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Group 'A'
Tick (v') the best answers.

10 x1=10

The inverse element of an element ' — i ‘of group G = {1,—1,i,—i}
with multiplication operation is
a.l b. -1 c.l d. -

Let (G, *), (H, *) be groups. The map ¢ : G — H is called a
homo- morphism from (G, *) to (H, *), if for all a,b € G

a. ¢(a*b) =d(a): d(b)

b. ¢(a* b) = $(a) * ¢(b)

c. $(a*b) =¢(a)* d(b)

d. ¢(a*b) = ¢(@)* ()

Let the set {0, 1, 2, 3, 4} forms a group under addition modulo 5, then
the inverse element of 3 is.....
a.l b.2 c.3 d. 4

The order cyclic group is the same as the....
a. Order of its subgroup
b. Order of its own normal subgroup
c. Order of its generator
d. All of the above

Which one is the incorrect statement of the followings:
a. The intersection of two subgroups of a group G is also a subgroup
of G.
b. Every subgroup of a cyclic group is cyclic.
c. The identity of a subgroup is not the same as that of the group.
d. The inverse of an element of a subgroup is the same as the inverse
of the same element considered as an element of the group.

. Whic*one statement is not correct for normalizer of an

elemc of a group G?

a. N(a) is not a normal subgroup of G in general
b. N(e) =G; forex =xe forallx €G.

c. N(@)#G iffGisabelian.

d. All of the above.

. Let (R,+,.) be aring and I be a non-empty subset of R. Then I

is called ideal of R if

a. a,b€limpliesa—b€landra€l.

b. a,b €l implies a—b&landar€l.

c. a,b€limpliesa—b€landraél.

d. a,b€limpliesa—b€landra€landar€l.

. Ifaand b leave the same remainder when divided by n then,

a. a =b(mod a)
b. a = b (mod b)
c. a=b(modn)
d. None of them

Let (R; +,:) be aring and let SCS R. Then(S;+,-) is a
subring of R if (and only if) S is non-empty and the
following hold:

a+b€S forany a,b€ES

a-beS forany a,b€S

a-beSandabé€S for any a,b€ S

None of the above.
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10. A homomorphism ¢ : G — H is called monomorphism if

a. ¢ is injective.
b. ¢ is surjective

c. & is injective and ¢ is surjective
d. None of the above.



